mN

(GeV) Prompt bkgd. Misid. bkgd. Charge mismeas. bkgd. Total bkgd. Nyps

ee channel:

40-80 08+02+£01 75+20=£3.0 0.27 £ 0.01 £ 0.03 8.6 2.0+ 3.0 11
90 28+03+03 134+22+54 1.68 4 0.04 + 0.20 17.8 +22+54 23
100 26+03+03 11.0+21+45 1.60 & 0.04 + 0.19 15.3 +2.1+4.5 23
125 33+£044+04 61£13+24 1.72 £ 0.04 +0.21 111+ 13 +25 11
150 33+£044+04 47+£114+19 1.93 + 0.05 4+ 0.23 99+12+19 7
175 20+£03+03 09£05+04 1.10 + 0.04 4+ 0.13 40+£06+05 3
200 1.34+02+02 20+13+£08 1.02 +0.04 +0.12 43+134+0.8 3
250 1.14+02+02 18+14+08 0.84 £0.04 £ 0.10 3.8+144+07 4
300 08+02+01 12+13£05 0.66 £+ 0.04 + 0.08 26+13+05 4
350 06+02+01 12+13+05 0.59 + 0.04 + 0.07 24+13+05 4
400 06+02+01 12+13+05 0.59 + 0.04 + 0.07 24+13+05 4
500 06+02+01 12+13+05 0.59 + 0.04 + 0.07 24+13+05 4

ey channel:

40-70 31+034+05 30.6+30+104 — 33.7+30+104 33
80 81+06+12 172+18+59 — 253 +19+6.0 29
20 6.6 06+10 134+14+46 — 201 £1.6+46 25
100 6.7+06+11 81£1.0+£27 — 148 £1.24+29 20
125 72+06+12 51£09+£17 — 123 +1.1+1.9 17
150 82+06+12 56+09+19 — 13.8 +1.14+23 16
175 56 +£054+08 3.6£07+12 — 93+09+15 11
200 37+£044+06 25+06+0.8 — 6.2+0.7+1.0 7
250 31+£044+05 15£054+05 — 47+ 0.6 +0.6 7
300 14+02+02 07+£03+£02 — 224+04+03 4
350 09+02+£01 07+03%02 — 1.6 +04+03 4
400 08+02+£01 07+03%02 — 1.6 +04+03 4
500 08+02+£01 07+£03=£02 — 1.6 +04+03 4



